
Que sls: D -32 

Q.1 DOG: PUP ::LION: 
" A. CUB 

C. CALF 

A. St. id sl61l 
C. s. 2le 4. AaEl 

A. 4HElqIE 

C. H`HIRIL 

A. SL. sfaeqe! eIAIRl 
C. sL. qndd o1l 

l q sle ð? 
A. B 

"C.E 

"A. dHGcle (Beaches) 
Q.6 oMiell Gcy saA aalgBl (Blue Flag Certification) 

C. qolgqot iRAQI 

Q.8 Hil s2 MaH,_el yel 4GH0 MIcl. 
A. 12 ? 2005 

A. 42 

C.52 

A.6 kmph 

C.8 kmph 

1. ulsd ulsalE, 

GJRJREXM - UllaI 
2024 

A. S4 q342 

? HHdL [ANALOGY] d. 

C. s4 2 a3 

A. 1985 

C. 1995 

Q.10 Asl2l ss MAISl EelH0 11 kmph 4ual Gb 

B. WHELP 

D. KITTEN 

.B. SL. `UZLS 2g 
D. S. ul E2% 

B. HI42s0sl 
D. 4olHS06L 

B. ST. 

9.9 56 4Il s sIH 14 (EqHH0 S2 d 8 &aai SHyi 524| qy 3241 HIRll 62 usl ? 

D. SL. 6 iss 

B. C 

D.F 

B. lul leen (Electricity Standards) 
D. Gulsiûslls otsI 

B. ldlol qSI Va 

D. QoQlo<sqRl sAlua 

B. 12 )s2l42 2005 
D. 12 oQ2 2005 

dd î4slqi 

B. 24 

D. 56 

B. 7 kmph 
EaH0 5 kmph l e Vieli «lel ssu el. 

D. 9 kmph 

B. S4 3 3a 

$4 HL`A: 100 H: 90 M 

D. $4 9 2N 3 

B. 1990 

- D. 1998 

C. 12 5e 2005 



A. 2 q 
C. ¬2 q 

-15 Which of the following is a compound sentence? A. She went to the store. 
C. She went to the store to buy some milk. 

A. 3oHRS12 
-C. dR6 

3. EelS lH 
A. s493d? 
C. SH2a3 

17 Choose the sentence with correct use of the future perfect tense: A. By next year, I will complete my degree. C. By next year, I would have completed my degree. 

A. GAS1a 

C. aMH0 

A. 150 

C. 250 

A.8 

C.5 

Q.23 Select the correct plural form of the noun "cactus"; 

A. cacti 
C. cactus' 

B. &2 a q 
D. &2 UR q 

C.HI RIORS12 

B. She went to the store and she bought some milk D. She went to the store but didn't buy anything. 

B. R HRSIR 

.21 s q 340 l Ed 350 , H0 Qudi duld 5%qy 1§l ella attl usz B4d ell 2 io s 

A. If I were you, I will apologize. 
"C. If I was you, I would apologize. 

Quz Bls:32-D 

" B. By next year, I will have completed my degree. D. By next year, I will completed my degree. 

B. S44 3 3 
'D. S4 3 dx 

Q.22 o1 A A5 2i5l 5 541540 e2 .Ul BAsal dygl eelcl eisl 10 sALsA0 WIl sid. ds ara 

B. As1Goloe Yo2G 

B.lal GRl 

B. 200 

D. 300 

B. 10 

Q.25 ldentify the correct sentence using a conditional clause: 

D. 6 

" B, cactuses 

D. cactusies 

B. HIA So, 2612 
D. HIA RlB: 

5 1. 

B. If I were you, I would apologize. 

D. If I were you, I would have apologized. 
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026 614als sla% (Phytorid Technology) s4l lqNN HIel Hl4d 87 

Q.27 Hileil s2a, 2005 il sqH 2 HÍ 4AS12ol 4dl eL : 

'A. SI4, EttIQ, sl5li (Alag 

A. and 

9.28 Choose the correct conjunction to complete the sentence: "I will go to the park 

C. unless 

A. 300 l2 
C. 400 {lea 

Q.30 l4lel' oqqSllell s Sl 7 
A. 2gla u 

C.yolaiq HSul 

SA. 21 
C. 23 

Q.32 (aael ellteHNdql ya 

A. Uud 
"C.qS 

Q.34 Firevwall y s1d e/ 8? 
A. Network monitoring 

C. Data storage 

C. The team has winning the match. 

A. Sld 

C. l 

"A. 14 

C. 53 

Q.37 53 53 �o 40 27 277 yel is elnl 
3 

A. SARSCOV-1 
"C. SARSCOV-19 

ue as:32-D 

hsehe 

B. ABl lu2sile 

sHbfsu 

D. Guls dHIH 

Bael qiqqH0 MIl l. 

B. but 

S ePlhe cShlo PD. 20 

D. so 

B. 350 l22 

Q.35 ldentify the sentence with correct subject-verb agreement: 

A. The team are winning the match. 

D. 450 Álaa 

B. 5uIGIq H180 
D. HId 

B. H2 el4H Hol 

B. lsHlell ls2 

D. Hllil uaol 4y 

B. Network security 
D. Data analys 

B. The team is winning the match. 

c D. The team be winning the match. 

"B. (A2 
D. a 

B. 12 
D. 27 

B. SARSCOV-2 
D. SARSCOV - C2 

it rains." 
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A. 20 

C. 12 

A. IIT 2a 
C. IIT HId 

A. Gs 
C. 52 

Q.42 Choose the sentence with correct use of a gerund: 
A.l am interested to learn more about your research. 

research. 

A. 1,3 
C. 1,2 HRLeeis 

A. lsell a 
C. UYHIGil sAa 

B. I am interested in learning more about your researe 
C. I am interested on learning more about yourD. I am interested for learning more about your 

Q.45 1guy22i 
-A. AreH ls2d2 

C. BH 

A. lR la 
C. s1cly alu 

Q.47 S122l2 le qlil . 

Q.48 Choose the sentence with correct use of prepositions: 

A. "He is good at to play the guitar." 

C. "He is good at playing the guitar." 

Q.49 12l alol qeeltl Ur. 

A. Aeyl VAlE 

B. 25 

"C. QUo-1 aul-2aja ai . 

D. 18 

B. IIM 
D. IISc bl 

"B. 
n D. stq4 

oll lu ye (boot) sl esIj 1el. 

research. 

HELLE 

" B. 2,3 L 

.B. aotl yga 

B. S;1Sq? 
D. G4alst ls oel 

D. sG ola 

B. "He is good in playing the guitar." 

"D. "He is good playing the guitar." 

.B.3o1l yalE 
D. 4ogal YAIE 4/8 



C. (A) B (B) «4 

A. eLLS 

C. HIl% 

C. SqH 2 

Q.54 "eRda.4lsuGUHI Aldl e? 
A. HIGSHERe 

Q.55 "51l gra ej? 

A. MEll Mels 
C. Higil 4ls 

? 

C. Hld Eqa 

Ell ? 
A. }E2I4E 
C. L0eloR 

A. 8543691 

C. 5279431 

A. Operating System qls s2d 
C. Hardware Test 82j 

Q.61 2027 FIFA Aotl qeZ suol Ax41l slAal s22? 
A. 4IGq 

C. Gd 

A. 1872 

C. 1893 

e 

A. QuId-q 34 au-2 ajd ei . 

D. Asu l 

B. 4aol 
.D. 55l ol 5l e154 

Q.59 DELHI = 73541 4d cULCUTTA =82589662 Slu dl CALICUT = 

-B. SH 3 

D. SqH 1 

B. Sf 
D. uulaeR 

B. lu s4isa 

B.S EqH 
"D. H0qWA eil 

"B. 81lR 
D. lEesloaf 

B. 8251896 

D. 5278013 

·B. Software Srtela s2d 
D. Network connect 829 

B. Ill 
D. $lH 

-B. 1890 
D. 1901 

D 



Q.64 Choose the correct relative pronoun: "This is the house 
A. what 

C. where 

A. s2lol qSI 
C. qslaalaeL 

Q.66 HIlsill ASIR MAl4, 2005' 
A. 154 , 2005 

C. 154lg, 2005 

A. eLlGaR 
C. OAIR 

A. 15 (&qH 
C. 45 Eqa 

A. EI 
c.ye 

C. Ls 

A. chmod 

"A. 4INoll 
C.A 4d B ja 

A. 1,2,3 
C. 1,3,4 

Q.68 Hll QsIR MAGH, 2005' B60 HIEl ql 4ð? 

A. 6000 4o 9000 
C. 9000 o 6000 

A. Application Software 
C. Operating System 

A. CREATE 
C. UPDATE 

Q76 TCPAP ASeM0 MIBHl a3aL ? 

B. when 

.70 s41 g4l5 GIS 24 Unix H0 ̂ LHGAI VM 4EGAI HI quz ? 

A.2 

D. which 

C. 4 
Que Bs:32 

B. Wldoll qsl 
D. Gulsrt û1sug G 

B. 154\ HRL, 2005 
D. 154lLLS, 2005 

" B. R 
D. alaaiR 

73 A 4aB s 20,000 30,000 Ql GSA jl e s . qoti 15,000 al dlA 4B 

" B. 30 &aa 
D. 60 &AH 

"B. Gr2 

I grew up." 

D. sA4 

B. chown 

D. rm 

B. Síl4a 
D. AsUi otsl 

"B. 2,3,4 
D. 1,2,3,4 

B. 7500 o 7500 
D. 5000 o 10,00o 

B. System Software 
" D. Utility Software 

SH B. INSERT 
D. DELETE 

B.3 

SaocD 6S000 



A. 101 

.C. 129 

"A. oil qyd 
C. alel q4d 

Q.80 AI B) CK__74uAi Ail yel sal. 
-A. DL 

C. OM 

A. SMTP 
-C. HTTP 

A. Hard Disk 

C. Processor 

A. 44% qU 
C. 20% qUl 

A. 5' 

C. 15 

A. PSLV 

C. ASLV 

A. 15 km 

C. 18 km 

A. 18% quil 
"C. 12%a21sl 

B. 118 

D. 134 

A. She don't like pizza. 

B. l0 qud 

C. She not like pizza. 

D. uil qud 

B. DM 

D. JR 

B. FTP 

D. SNMP 

B. Mother Board 

D. RAM 

B. 40% qHl 
D. 24% QRl 

B. 10' 
D. 20 

Q.87 5 cbt 12 (5.4l.dlde 4 kmph fl suel sn à, l a 6 kmph l 1suel ua l deqy HH0 Beg ait? 

.B. GSLV 
D. GSLV MARK 3 

B. l wd l 

Q.88 5 IPHONE BHH0 109% qHIà eul 209% l21l . 3eai 2s13261R Rl sa? t0 

B. 10 km 

D. 20 km 

y.89 Which of the following sentences is grammatically correct? 

B. 15%qa 
D. 10%2isl 

B. She doesn't like pizza. 

30 

D. She doesn't likes pizza. 



.90 Quil 4eeldl duii. 

C. Hl Sfu 

A. qZ 
C. MYSQL 

A. }a HSR 

Q.97 \Soe el l_2 (Paintbrush swift) (Baoris Farri) 8? 
A. Vll 

C.y 

1.id Slsl 
3. q44 Aaal X.id Ul65 

A. sH142 
C.AsH 3 4o8 

Q.100 'INLRLLAA3s i yets 8? 
A. SL. siAAIG AH 

C. St. OLkas 

B. (aI-94d al-2 j lai 8. 
D. aUIA-1 d GH-2 Hj . 

B. "Hbt l IS Al dz2i siel2il.." 

D. LRil BASIRL Äelu deL (ISRO) GR AsAIgqHi 

B. HeLS AA 
D. Holler Adal 

B. olIRisa is eS l3esaesleSbo 
B. SQL HQlsieo 

D. 

B. uiSjuone 
D. Hs 

a H4 

"B. H 2 o 3 
D, olsHYd 

B. SL. yo S 
D. S. eRqeqeI PURIl 

360 

166 
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